CEILING MOUNT BRACKET

PVIT-L21/PMI-H25

SERVICE MANUAL

e PMT-L21 o PMT-H25

Horizontal angle adjustment

Ceiling bracket
screws /000000000 )

Ceiling bracket
poooooo

Mounting guide pin
pooooooooo
Tilt angle adjustment screws Horizontal angle adjustment screw
(There are also screws on the (four in total)
opposite side.) 0ooDo000D040000
ooooooooo Height locking screw\
poo00ooooop0o0Oo00D00o0 ooooooo \@
Projector mounting adapter Height adjustment pole
pgoo0ooOooOopopooOooOoooo oooooooo
Vertical angle adjustment screws
(There are also screws on the opposite side.) Mounting guide pin
ooooooooon 0000000000
gooooOoooOoooooooo

/ Tilt angle adjustment screws

(There are also screws on the
opposite side.)
oooooooog
00o0o000Do0oD0OoDo000

Projector mounting adapter
pgoboobopoooOobOoooooO

<(\

Vertical angle adjustment screws

(There are also screws on the opposite side.)
ooooodood
pooooooooooooooo

ZOY—ERYZaT7IVE, TAV—IREOBEREFEALTVET,
This Service Manual uses recycled paper.

€YAMAHA

YAMAHA CORPORATION
P.O.Box 1, Hamamatsu, Japan




PMIT-L21/PMT-H25

= DIMENSIONS OF PARTS /00000

Projector mounting adapter

PMT-H25

obooboobooooooobooboD

[FrontView] /[ODODOODO0O

(your g/e-LG 01 9T/ST-¥E)

ww /SyT 0} /88

Eo:,_ S\m,.u
ww Qg
o [
1T e ofo o oo b5
" 1
(sajoy Bunenauad A ||ny)
(your 9T/£Q)
ww g'8g
(your €5 0} 9T/6-0€)
WWw /€T 03 LLL
(Youl 9T/€-GS 03 p/€-2€)
ww ZoyT 0} Z€8
(your 91/5) ( . (your 91/6-2)
uyoul /T-9) Wi 6T
W 8-+ | ww z6T
\\é $‘\
7 =
| O [S)
Q| C =4
Sk <
Sk >
£ Q| el
£]
£| £|
il €] —
=2 —_— 0
| o o
~| ~|
Ll |
— |
O
= |
g2 = g D
i~ P O
o
= S -
=~ = N O
—- € = = —
£ 5 £ T | )
2 = your 9T/€-€
3= 2 ﬂ [} wwig
| | —
- >
RN FY w W .m
(your 91/3) = - o
ww g hﬂuw_,___w \mmv VEEEEmmwﬂ , o T (uou1 g/g-G)
UoUI 8/2-9, = W 76t

with the LPX-500 installed

with the LPX-500 installed

LPX-500000000

LPX-500000000

[TopView] /OO OOOO

[TopView] /OO OOODO

(alou)
(your g/e@)
ww oTg

(a10y [eandiia)
(Uour g/T X 8/EQ@)
ww €T X 0T@

(a10y)
(uour 8/e@)
ww 0T@

(a10y reandija)
(Uour g/t x 8/£@)
ww €T X 0T@

(a10y)
(your g/e@)
ww 6@

140 mm
(5-1/2 inch)
175 mm
(6-7/8 inch)

(310 [eandyia)

(your 8/2-2) (Uour /T X 8/E@)
ww 00z ww €T X 6@
(your /2-8)
ww 9zz
(a10u)
(your g/e@)
ww 6@
¢
==
Eleg e
oYX
S m\m m
: Of\

(your g/1-5)
ww orT
(your 9T/TT-9)

ww 02T
(Yout y/g-2)

ww 96T

(310y [eandia)
(Uau1 Z/T X B/ED)
ww €T X 60

GZH-LINd/LZT-LINd




PMT-L21/PMIT-H25

PACKING LIST/00O0O0O0ODO

PMT-L21 PMT-H25
Ceiling bracket x 1 Ceiling bracket x 1
goooo0 x100 oooooOo xa00

Adjustment pole locking screws (M5) x 4
O0ooOooooooMms)x400

©® £&&&

Common parts (The following parts are provided with each bracket.)
0000o@OoO0DoooooooOoooog)

Projector mounting adapter x 1 Projector mounting screws
poboooooooooobobo0 xao0 (M4, pan head) x 4

00Do00o00o0oooOooooWm4000)x400

@ PPPP

Vertical angle adjustment screws
(M6, hexagonal head) x 4
gooDooooowmenOooOo)x400

Safety brackets x 2

0000 x200 @§§§§
a° a°
@ Safety bracket mounting screws
(M4, pan head) x 4

0oDOooooooomWm4000)x400
Safety wires x 2

000000000 x200 @ LCeee

Safety wire mounting screws
(M4, pan head) x 4
DOoooooooooooooomMm40o0)x400

Hpppp

Installation Manual x 1
goooooo x100d

.-
=
Ref. =
No. PART NO. Description Remarks Markets ooo Rank N
1 AAX41960 | SAFTY WIRE SUS304  2pcs/se | PMTL21-X4 ooooooooo 2
2 AAX30700 | SAFTY BRACKET SPCC 2.0 2pcs/set | PMTL11-X7 oooo ;
3 AAX30720 | HEXAGON BOLT 6x16 NI ~ 4pcs/set | PMTL11-X8 ooooa 5
4 AAX41950 | PAN HEAD SCREW 4x16 NI 4pcs/set | PMTL21-X2 ooooa
5 AAX30680 | PAN HEAD SCREW 4x10 NI 8pcs/set | PMTL11-X10 ooooa
6 AAX30670 | PAN HEAD SCREW 5x10 NI 4pcs/set | PMTH15-X7 ooooa

*New Parts (OO O0O)



L1
N
=
—
=
o.
—
-—
o~
=
=
=
o

PMIT-L21/PMT-H25

= REMOVING THE PROJECTOR /000 00O0ODOODOODOOO

1 Remove the vertical angle adjustment screws. looooooooooo
Remove the four vertical angle adjustment screws gooooooowmeOoO)MooOOooOooD(@O
(M6, hexagonal head), two on the right and left sides 20000)d

respec-tively.

(PMT-L21)

=

le=s

Ap

Vertical angle adjustment screws %

(There are also screws on the opposite side.)

goooooooo

gooooooooooooooo
2 Remove the safety brackets. 2000000000
Remove the four safety bracket mounting screws (M4, gooooooooom4bcoOy¥ooooboo
pan head), two on the right and left sides respectively, oooooooog@o2o0000)0

and the safety brackets can be removed.

G

/

(PMT-L21)

=

&_ o

[A

Safety bracket mounting screw
(M4, pan head)
0oooooooooMm4000)

Safety bracket
ooooo



3 Remove the projector from the ceiling bracket.

As shown by the arrow in the figure, lift the projector
di-agonally first and then pull it down. (The mounting
guide pin of the ceiling bracket comes off from the
groove in the projector mounting adapter.)

PMT-L21/PMIT-H25

300000000000000000000

ggoobbboooobboooobobooboogn

gooooooboooo
gbogbooogbooboboooobooobda

gobobooboooooooboob

e —

o e

o o

O
o o (PMT-L21)

Projector mounting adapter

Mounting guide pin
oooOooooooo

Oobo0oOd0Ooooooooooboooo

T2

=

4 Remove the safety wires.

Remove the four safety wire mounting screws (M4,
pan head), two on the right and left sides respectively.
Loosen the band to make the loop of the safety wire
larger. Re-move the safety wire from the adjuster of
the projector.

Band N
I

oooooo

Projector mounting adapter
jooooooooooooooo @

;

4popoooooooooooon

0000000000000 00M4000MO0
0000O0020000)0
00000000000000000000000
ooooooo

0000000000000 O00000O00O0n
00000000000

Safety wire
goooOooooooa

Safety wire mounting screws (M4, pan head)

oooooooo

0000000M4000)

o
=
-1
—
N
—
1
o
=
-1
X
N
1



PMIT-L21/PMT-H25

5 Remove the projector mounting adapter from Sooooooooooooooooooooon
the projector. gooooooo
Remove the four projector mounting screws (M4, pan ooooboOoooooooomimoyYooooo
head). The mounting adapter can then be removed. do0oooooboobooooog
T Projector mounting screws (M4, pan head)
goooooooooooomMm4ooo)

-----

Bottom of the projector

oooooooooo
Projector mounting adapter

OboOoOoOooooooooooo

m SPECIFICATIONS /00O O

*  Specifications are subject to change without notice.

Product Name/ 0 O O Ceiling Mount Bracket /0 0 O O O
Model No./ O 00O PMT-L21 PMT-H25
Height/ 00 O 94 mm (3-11/16 inch) |789to 1359 mm (31-1/16 to 53-1/2 inch)
_ (fixed) (variable in 30 mm (1-3/16-inch) steps)
Adjustment Vertical angle
rende *15° +15°
/joopo /80000
;"DO”DZ%“S' angle £10° +10°
/Tgt Sn %IeD 0 +10° +10°
Dimensions of ceiling bracket 176 226 789to 1359 mm
(W x D x H) 156 x 196 x 94 mm (6-15/16 x 8-7/8 x 31-1/16to 53-1/2 inch)
(1-3/16-inch) steps)
Dimensions of adapter
10 (WxDxH) 362.5x 179 x 77 mm (14-1/4x 7 x 3inch)
|=E /0000000000
=
e Weight /0 0O O 2.2kg (41bs 14 02) 4.0kg (8 1bs 13 0z)
3
=
=
o.




